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Sub-Section Id : 477187311
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 4771876117 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

One of the following is true in accordance with the principles of Growth and

Development
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Options :
Various dimensions of development 1e. physical. social, emotional and
mtellectual are interdependent
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Development of the individual ceases with the adolescent stage
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Question Number : 2 Question Id : 4771876118 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Maturation has its impact on which of the following aspects of development
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Choose the correct answer
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Question Number : 3 Question Id : 4771876119 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Eight year old Nitin wants to join cricket coaching. To convince his father, he
has given a schedule of his activities of how he would manage between studies
and cricket. This 1s an example of this characteristic of mental development for
his age
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Question Number : 4 Question Id : 4771876120 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Read the following statements and identify the correct answer
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Statement A — Developmental tasks are influenced by the nature of the life

patterns prevalent in a soclal and cultural group
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Statement B — Children from lower socio economic status involve 1n household

activities sooner than their counterparts of higher socio economic status
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Both Statements A and B are false

T . oz :
Eﬂ'i_fﬂ;oeg A 58 B Gole 58505

%®
Statement A is true and does not offer correct explanation for Statement B
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Statement A is true and offers correct explanation for Statement B
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Question Number : 5 Question Id : 4771876121 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

During this stage of Erikson’s psycho-social development. a boy or girl being

completely dependent on others may develop a sense of ‘trust or mistrust’ on

others depending on satisfaction of his or her needs
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Question Number : 6 Question Id : 4771876122 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Daksha 1s a small girl who was telling her mother. ‘vesterday mango was sweet

but today it 1s sour. So, mangoes can be sweet or sour’.

A child begins to do such

inductive reasoning from this stage of Piaget's Cognitive Development
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Question Number : 7 Question Id : 4771876123 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Among the following. identify the one that ceases at about the age of 16 to 20
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Question Number : 8 Question Id : 4771876124 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Self concept 1s a judgment about oneself bazed on
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Choose the correct answer
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Question Number : 9 Question Id : 4771876125 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

One of the following is NOT an example for defense mechanism
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Kapil whose skills in language are very poor has become a popular
scientist
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Kabir whose visa to USA got rejected said ‘anyway I am planning to
change destination to other country’
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Kokila who forgot the bus accident she had met with in her school days in

which she lost her friend
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Kashyap who could not get admission into college ‘A’ took admission in

college ‘B’
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Question Number : 10 Question Id : 4771876126 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A researcher wanted to study the social development in children from ages 6 to

12 years and present a paper in the national conference scheduled a year later.

The best method to be employed by the researcher among the following 1s
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Question Number : 11 Question Id : 4771876127 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If a person 1s seen to be not learning as expected, the problem would probably he
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A)  Goal direction

B) Motivation
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Choose the correct answer
$08 SErrard) dotHsiol
Options :
A. B & Conly
A B& CsrEd

1. %
A.B.C.D
2.
B.C & D only
B.C & Dsrgd
3. %

A,.C& Donly
e A, C& Dirgad



Question Number : 12 Question Id : 4771876128 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The success and failure of learning depends on
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A) Quality of factors influencing learning
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Choose the correct answer
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Question Number : 13 Question Id : 4771876129 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Vijay. a eight year old boy went to a shopping mall along with his parents.
While his parents were seeing something. Vijay started a conversation with a
stranger and walled along with him without seeing which way he was walking
and without realizing that he is going away from his parents. After a while the
stranger left and Vijay realized he got lost and was scared. He wanted to
reunite with his parents and ran to all the shops up and down the floors of the
mall when he suddenly found the shop where he came to along with his parents
and found them there. The stimulus in this trial and error act of vijay is
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Realising that he is lost
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Question Number : 14 Question Id : 4771876130 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Some parents shout at their children when they see anv unacceptable behaviour

50 as to stop them from such behaviour. This 1s an example for learning by
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Question Number : 15 Question Id : 4771876131 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A school has introduced a learning app for use by the students, where students
were reinforced for the correct response by some praise and hinted for incorrect
response by some signals of disappointment. This process in Skinner's theory 1s

referred to as
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Question Number : 16 Question Id : 4771876132 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
One among the following DOES NOT help in developing strong sense of self
efficacy according to Bandura
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Question Number : 17 Question Id : 4771876133 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Schools that showcase the academic performance of their students appear to be

giving major welghtage to this domain
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Question Number : 18 Question Id : 4771876134 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

One of the following helps in arousal and sustenance of motivation
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Question Number : 19 Question Id : 4771876135 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A student first learnt poem ‘P’ and then poem ‘Q. When he wanted to recall
poem ‘Q’. poem ‘P’ was interfering. This type of inhibition is
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Question Number : 20 Question Id : 4771876136 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

When learning in one situation is not showing any impact in other situation it

13 said to be
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Question Number : 21 Question Id : 4771876137 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Charmi takes good care to see that behavipural problems do not emerge in her
class. The technique she uses 1s that from day one of going to a new class she
observes children keenly and reinforces good behavipur shown by students by
giving a reward with which other students are motivated to behave well. The
measure adopted by Charmi is
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Question Number : 22 Question Id : 4771876138 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The Juvenile Justice Boards established under the Juvenile Justice (C:Lre and

Protection of Chﬂdren} Act, 2015 are
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Question Number : 23 Question Id : 4771876139 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
A certain state has introduced ICT courses like coding. web development in the
school curriculum. Here ICT is being used
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Question Number : 24 Question Id : 4771876140 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
In this type of counseling, the counselee gets immediate attention as well as

solution to the problem from a professional
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Question Number : 25 Question Id : 4771876141 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

To encourage discovery learning as advocated by Bruner, teacher should
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Question Number : 26 Question Id : 4771876142 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

One of the following is NOT a strategy for addressing classroom diversity
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Question Number : 27 Question Id : 4771876143 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

‘Recapitulation’ is part of this
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Choose the correct answer
$88 SEreardy aothsiod
Options :

C- Dn]y

C E::E |§33

1. %
B only
B &r s
2. %
A only
A SrEdh
3.¢

AB&C



Question Number : 28 Question Id : 4771876144 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which among the following may pose challenge in using activity-based learning
in the classroom
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Choose the correct answer
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Question Number : 29 Question Id : 4771876145 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The Rights of Persons with Disabilities (RPwD) Act. 2016 provides that to
prevent the occurrence of disabilities the appropriate Government shall screen

all the children for the purpose of identifying “at risk” cases at least once in
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Question Number : 30 Question Id : 4771876146 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Among the following. identify the INCORRECT statement relating to teacher
preparation as laid down in National Curriculum Framework. 2005
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Question Id : 4771876147 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (31 to 34)
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Sub questions
Question Number : 31 Question Id : 4771876148 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Question Number : 32 Question Id : 4771876149 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
"-_T D,}.:l A0 FE'H ?':r_u &.-‘:h"ﬁ- '@O"f' ::.55:)

Options :

1

2.9



BRI T
-}.O;'_..J_."':‘ 2

3, %
GEve
4, %

Question Number : 33 Question Id : 4771876150 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 34 Question Id : 4771876151 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Shuffling Allowed : Yes



Question Id : 4771876152 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (35 to 38)
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Sub questions

Question Number : 35 Question Id : 4771876153 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 36 Question Id : 4771876154 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 37 Question Id : 4771876155 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Question Number : 38 Question Id :
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Sub-Section Number : 3
Sub-Section Id : 477187314
Question Shuffling Allowed : Yes

Question Number : 39 Question Id : 4771876157 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 40 Question Id : 4771876158 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 41 Question Id : 4771876159 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 42 Question Id : 4771876160 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 43 Question Id : 4771876161 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 44 Question Id : 4771876162 Question Type
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 45 Question Id : 4771876163 Question Type
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 46 Question Id : 4771876164 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 47 Question Id : 4771876165 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 48 Question Id : 4771876166 Question Type
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 49 Question Id : 4771876167 Question Type
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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: MCQ Option Shuffling : Yes

: MCQ Option Shuffling : Yes



Question Number : 50 Question Id : 4771876168 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 51 Question Id : 4771876169 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 52 Question Id : 4771876170 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Question Number : 53 Question Id : 4771876171 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Question Number : 54 Question Id : 4771876172 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 55 Question Id : 4771876173 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 56 Question Id : 4771876174 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 57 Question Id : 4771876175 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 58 Question Id : 4771876176 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Question Number : 59 Question Id : 4771876177 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Question Number : 60 Question Id : 4771876178 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Language 11 English
Section Id : 477187197
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 26
Number of Questions to be attempted : 26
Section Marks : 30
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 477187315
Question Shuffling Allowed : Yes



Question Id : 4771876179 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (61 to 65)

(61—65) Read the following passage and choose the correct option for

each question.

We are very fond and eager to mention about the Fundamental Rights.
Very few people, young and old, know about the chapter on the Fundamental
Duties of the citizens. Unfortunately, this fundamental duty of every citizen is
not even known not only to the uneducated but even to the educated. And even
if they know about, they do not bother to implement them in their lives. So. one
should agree that an imtiative is needed to introduce the study of the
Constitution as a compulsory part of the school and college curricula.

The Indian constitution 1s an excellent document which has stood the test
of time. Of all the constitutions adopted after the Second World War, our
Constitution 1z the only one that survived and remained unaffected. Some
nations went under dictatorships which also resulted in the constitutions being
replaced by new ones. Qur constitution, however, remained by and large the
same, except for the amendments. And the amendments were effected through a
process mandated under the Constitution itself, and also with a larger
CONSENsUs.

Sub questions

Question Number : 61 Question Id : 4771876180 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

According to the passage, the most striking irony regarding fundamental duties
mn India 1s that they are

Options :

well-lknown but poorly written.
1. ®

praised internationally but ignored locally.
2. %



unknown even to the educated class.
3.

practiced more by uneducated citizens.
4. %

Question Number : 62 Question Id : 4771876181 Question Type
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

: MCQ Option Shuffling : Yes

What does the author primarily argue regarding civic education in India?

Options :

1.

mncluding Constitution studies compulsorily in education.

making the study of the Constitution optional in colleges.

2. %

adding more fundamental rights to the Constitution.

3. %

removing outdated constitutional clauses.

Question Number : 63 Question Id : 4771876182 Question Type
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What part of the Constitution 1s less known?
Options :

Fundamental Rights
1. %

Directive Principles

Fundamental Duties
3.

Emer ency Pl‘ﬂ‘."llS:lﬂ ns
BREG
4. %

Question Number : 64 Question Id : 4771876183 Question Type
Display Question Number : Yes

: MCQ Option Shuffling : Yes

: MCQ Option Shuffling : Yes



Correct Marks : 1 Wrong Marks : 0
The expression “stood the test of time” i1z used in the context of the Indian

Constitution means

Options :

remained unchanged since independence
1. %

endured challenges and remained relevant
2. ¢

avolded global attention

had never been amended
4. %

Question Number : 65 Question Id : 4771876184 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The amendments to the constitution were effected through a process mandated
by

Options :

ruling government
1. %

the constitution of India
2.9

the supreme court of India
3. %

the council of ministers
4. %

Sub-Section Number : 2
Sub-Section Id : 477187316
Question Shuffling Allowed : Yes



Question Number : 66 Question Id : 4771876185 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the option that correctly sequences the following sentences.

A)
)
)
)

s

o o

E)

However, the match ended in a tie.

The day came and the playvers entered the field with great energy.
Everyone had been eager to watch the final match for a month.

In the end. 1t turned out to be a thrilling game and remembered for a long
time.

Throughout the game, both the teams plaved exceptionally well to win the

trophy.

Options :

1.

4. %

C.B.E, A D

B.AEDC

C.D.B.E A

E,C.B,D A



Question Number : 67 Question Id : 4771876186 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The works of Shakespeare are more famous than

Identify the suitable option to complete the sentence.
Options :

any other English dramatist.
1. ®

those other English dramatist.
2. %

of other English dramatists.
3. %

those of any other English dramatist.
4. ¢

Question Number : 68 Question Id : 4771876187 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
*After studying law, he became advocate, and soon he was known as

best lawyer in the city.”

Identify the suitable option to complete the sentence.
Options :

the, the
1. %

an, the

a, the

the, a



Question Number : 69 Question Id : 4771876188 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

She has a sense of humour.

Choose the correctly spelt word to complete the sentence.

Options :

mishievaus
1. %

mischievous
2.9

misheilvous
3. %

mishievious
4, %

Question Number : 70 Question Id : 4771876189 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the silent consonant letter in the word “champagne”.

Options :

| % 1m



Question Number : 71 Question Id : 4771876190 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the meaningful sentence.

Options :

She thought to take care that he would never be able of himself.

1.

She thought that he would be able to take care of himself never.
2. %

He would never be able to take care of himself she thought that
3. %

She thought that he would never be able to take care of himself.
4.

Question Number : 72 Question Id : 4771876191 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The robbers In a car.

Chooze the most appropriate option to complete the sentence.

Options :
got away
1. ¢

ran mto
2. %

broke out

put up



Question Number : 73 Question Id : 4771876192 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the part with an error in the given sentence.

His condition has been deteriorating since the last two days.
A B C D
Options :
C
1. ¥
A
2. %
B
3. %
D



Question Number : 74 Question Id : 4771876193 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The officer said to the candidate, “If you had submitted your application earlier.
vou might have been selected.”

Choose the appropriate reported sentence.

Options :
The officer told the candidate that if he had submitted his application

earlier, he might have been zelected.
1.v

The officer told the candidate that if he submits his application earlier, he

might have been selected.

The officer told the candidate if he would have submitted his application

earlhier, he may have been selected.

The officer told the candidate that if he submitted his application earlier.

he would have been zelected.



Question Number : 75 Question Id : 4771876194 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
She still works, - —— - - ?
Choose the correct option, to complete the sentence.
Options :
does she

1. %

don't she

doesn’t she
3.

didn’t she
4. %

Question Number : 76 Question Id : 4771876195 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Chooze the correct option that contains only plural abstract nouns:
Options :

children, books, knowledge

1. %

1deas, thoughts, beliefs
2.9

flies, pens, wishes
3. %

series, knives, news
4. %



Question Number : 77 Question Id : 4771876196 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Had she earlier, she would not have missed the train.

Choose the appropriate option to complete the given sentence.

Options :

arriving
1. ®

ArTives
2. %

arrived
3. ¢

arrive

Question Number : 78 Question Id : 4771876197 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

“Thev acted with calculated indifference”.
Here the expression “calculated indifference” means

Options :

They were accidentally rude.
1. ®

They were confused about how to react.
2. %

They pretended not to care on purpose.
3.¢

Theyv were overwhelmed with emotion.
4. %



Question Number : 79 Question Id : 4771876198 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
“He took the criticiam a grain of salt.”

Choose the appropriate option.

Options :
with
1.¢

on

by

mn

Question Number : 80 Question Id : 4771876199 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The opposition party started brainstorming for its debacle in the General
Elections.

Which of the following 1= a synonym for the word “debacle”?

Options :

triumph
1. %

strategy

plan

fiasco
4.



Question Number : 81 Question Id : 4771876200 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Select the grammatically correct sentence.

Options :

I wish I have known the truth earlier.

1. %

I wish I can know the truth earlier.
2. %

I wizh I had known the truth earlier.
3.¢

I wish I would knew the truth earlier.
4.%

Question Number : 82 Question Id : 4771876201 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
“I expect to be invited to the wedding™.
The meaning of the sentence 1s:

Options :

I am expecting someone to invite me to the wedding.
1.¢

I am expected to invite someone to the wedding.
2. %

I expect that the wedding will be cancelled.
3. %

I was expecting to invite someone to the wedding.
4. %



Question Number : 83 Question Id : 4771876202 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Someone made this antique sewing machine in 1834.

Identify the correct passive voice sentence for the given sentence.
Options :

This antique sewing machine has been made in 1834,
1. %

” This antique sewing machine was made 1n 1834.
2.

This antique sewing machine was being made in 1834,
3. %

This antique sewing machine had been made in 1834.
4.%

Question Number : 84 Question Id : 4771876203 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The Titanic was carrying over 2,200 people

Choose the correct option to complete the sentence.

Options :

when 1t have left Southampton
1. ®

when it left Southampton
2. ¢

when 1t has been leaving Southampton
3. ®

when 1t has left Southampton
4. %



Question Number : 85 Question Id : 4771876204 Question Type
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

: MCQ Option Shuffling : Yes

Direct Method of teaching English primarily focuszes on

Options :

memorizing grammar rules
1. ®

using the mother tongue
2. %

teaching vocabulary lists

promoting spealking and thinking in English
4.9

Question Number : 86 Question Id : 4771876205 Question Type
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The main goal in teaching vocabulary to beginners 1s

Options :

building basic and frequently used words

1.

teaching advanced synonyms
2. %

memorization of long word lists
3. %

understanding Latin roots
4, ®

: MCQ Option Shuffling : Yes



Question Number : 87 Question Id : 4771876206 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
What distinguishes a micro lesson plan from a regular lesson plan?

Options :

It 13 used only in universities.
1. %

It has no objectives.
2. %

It focuses on one specific skill in a short time frame.
3.¢

It 1s used only in math teaching.
4.%

Question Number : 88 Question Id : 4771876207 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which feature best describes the nature of the English speech sounds?
Options :

There is one-to-one correspondence between letters and sounds.

1.
” There is incongruity between letters and sounds in English.
2.
The English speech sounds are similar to the Telugu speech sounds.
3. %

There are 26 speech sounds in English.
4. %



Question Number : 89 Question Id : 4771876208 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Choose the option that correctly sequences the following regarding writing
process.
A) Drafting, editing. and reviewing.

Choosing ideas and your words.

-

B)
C) Re-drafting and making a final copy.
) Choosing vour topic and reader.

)

t

Organizing your writing. events under sub-topics.

Options :

D EA.CB
1. %

AB C D, E
2. %

D.B,E.AC
3.¢

B.D.AEC



Question Number : 90 Question Id : 4771876209 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

defines ‘reflection’ as a form thinking.

Options :

John Dewey
1.

Noam Chomsky
2. %

Richard

Dr. West

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Social Studies

477187198
4

Online
Mandatory
60

60

60

0

1
477187317
Yes



Question Number : 91 Question Id : 4771876210 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The main land of India extends i between these latitudes
cPEE0E LS greritio & ogrodre i aBod) Gob
Options :
8°4' N and 33°6° N latitudes

8°4' N s8din 33°6° N ogroden
1. %

6°4' N and 33°6* N latitudes

6°4' N sh8c 33°6° N egrodren
2. ®

8°4° N and 37°6° N latitudes

§°4’ N 8afn 37°6’ N sygroaren
3.¢

6°4' N and 37°6" N latitudes
6°4’ N sh8ain 37°6° N egrozren



Question Number : 92 Question Id : 4771876211 Question Type : MCQ Option Shuffling : Yes
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This sea coast remains mostly dry during the South-west monsoon season as it
1s in the rain shadow area of the Arabian sea branch and is parallel to the Bay
of Bengal branch
& S50 %o «lfdr HEnd o Gnd et arodod® Gokto Sl HBdm
norrEgrdo S°9h Siirosior Soddo Hoi BhE HEHdTe Tood® JEyd A

Sotnod

Options :
Coromandel coast
55 5508s &bo
1.v
Canara Coast
S0 &0

2. %

Konkan Coast
0465 &io
3. %

Utkal Coast

a8 o
4. %
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The river basin of thiz river covers Parts of Maharashtra, Madhya Pradesh,

Odisha, Telanga
& 56 GinE) Hoar

&
B oy

na and Andhra Pradesh

&

T8 grodo S0sFTry, oS,

[mgaTiaY i = ” I o
8% aRo@red” dnbod) Gob

Options :

Krishna

i Ny

Narmada

S50
2.8

Mahanadi

i
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Identify the statement that beat describes ‘mixed farming’ among the following

- . =
2ol ES ‘DoEsh HrHrdho™ adshorr D5B0T DS oD rbBodod
22

Options :

Using of land for growing food and fodder crops and for rearing hivestock

25250 @:Fdo B0l DTS Hofed HoloditedS Hbdn HHGeDoNTIE
&X0rfodEo
1. v

Using of land for growing food crops only

25 @:3# 0 Hoten DotodteRs s |é§a_.:n &ndrfodto

The land uzed for gr{)wing of only plantation crops

2 & DoDTPDE S u’im:n &narfosto

The land used for growing fodder crops and rearing of cattle only

R - R AP SR S AT T - TR ST ) e VR AL 5
2300 DHOITR Rote dofodtrls Hbdin Do NonsAs SrEah
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These trees grow mostly on the sea coasts. on sandy beaches and marshy lands

and on lands affected by tidal waves

ol i

Co AR Ty T T . ]

&3 Dén m.:u}_::ﬁl a -:\_:;.J_J_-'l_li_:l edTIPEIE ",
= &

o

5508 D508k, D86 Jved’ HB0 veoo Herards 8%
e Sned é;é:-é#j-ﬁ'-‘ Fale 38 2o
Options :
Thorny forests
b o

é':‘-"gé ¥apen

Evergreen forests

s 208 etis)en

2. %
Coniferous forests
oy % erden
T.-FJOFT"‘S:' Slaoil)
3. %

Mangrove forests
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et &0 g,
ol B aden

4.¢
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In a country, the Positive growth of population is observed when

2.& O¥0ft, Pddre svrer DSHSe & Ho8508° Hddosss
Options :

The birth rate 1z more than the death rate

353 Béw, Hoties Déw Zob cn.-é.ﬂ?:-'_‘ﬂt E500
1.v
The birth and death rate are equal
2338 Bén, So8es Bén Jardorr &
2. %
The rate of migration is more than that of immigration
E&ulﬁ ﬁ éﬁ‘.}: = i:-.L ﬁcpﬂm éﬁ: éCIEL -:a_.:x:l Eﬁﬁb =) %Cz....
3. %

The birth rate 1s less than the death rate

?,'n

el
T

% Béw, Hoes Cén Sob f}f“maﬁr’: S50
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One among the following statements best describes the term ‘Soil’
Sof %éﬁ&oéﬁcéﬁ 2,58 Vo’ 03 Hrdy e D58506
Options :
The breaking up of exposed rocks

=

2erO8IN T°E) D)0 sPao

The layer existing in between the crust and the mantle

o

AR e & A P r #
girateo S8 drararto S0 &5y 50

The thin layer of grainy substance covering the surface of the earth
- g8 &HBBEerd),) 88 o HXy0) Tmdesrd
The liquid material under the surface of the earth

28h &b ol &y (B35 ﬁm’-‘?m

Al
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The main mineral constituents of the Continental crust and the Oceanic Crust
respectively are
portrosd o sHBain shkSamE e-ataoe & wbborr ofod BIGP el errren
ETebrS L
Options :
Sial (si]ica and alumina ) and sima (silica and magnesium )
sial (AO% HB6H Wer;SbdcHo ) HB6H sima (L3 HBH HA%GD0)
1.
sial (silica and ulumina} and nife (nickel and ferrous)

sial (HOs° HBAN wer;ihddbo ) 58 nife (A56 Hddn TH)

nife (nickel and ferrous) and sima (stlica and magnesium )

nife (286 $HBcn PR ) $HBAW sima (HOS® $HBAW Hyadho)
3. %

sima (silica and magnesium) and sial (silica and alumina)

sima (H95° $8cw DAgcHo ) HBain sial (HDz HBED werfhdcho)
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These rocks are formed when the molten magma cools and becomes solid
E8AN dertiddo Swal T e v ele S SPBRa0 & doen 3;-53:(“;’@’-‘03::
Options :
Igneous Rocks
81, deen
1.¢
Metamorphic rocks

Searodd seen

2. ®
Sedimentary rocks
3350 deen

3. %

Sedimentary and Metamorphie rocks

eHE0es B0 Srarodl doen
4. %
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The term ‘Horticulture’ refers to
#8505 & Hifo HIN Krdikod

Options :

Cultivation of grapes only

T = . ot .a-—_":_
g &h Bdgito SrEad

Growing vegetables, flowers and fruits for commercial use

aPehess GRG0 850 Erdmraien, Janen HbAw Do oo
2.¢

Commerecial rearing of silkkworms

sPebesio 565 )ép Bpdibe odso
3. %

Breeding of fish in specially constructed tanks and ponds

-
—y

8:8ore 18,008 rofen HBcn 3nPHed” The Doddo
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Among the following. the latitude passing through North America 13
Eob ardlE”, 680 aDbze ot JEEN, ogrodo
Options :

Tropic of Capricorn

2045 By

Equator

5
TRV ¥ e T
2re00;0%

2. %
Tropic of Cancer
455,80 O

R

Antarctic Circle

@085 Hdo

4. %
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From among the following. identify the Non-Metamorphic rock
Bob sréS®, Srarodl 4o 50 rdd MDBodod

Options :

Marble stone

Limestone

wh w o
odd 36;-:\__-,: OO0

2.9

Schist

L]

&

Quartzite
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At times the river overflows 1ts banks. then

T 2

YooYy F & oy Oy Ty e
S el 38 8oty 18008 a.i

;—J cnobs v:\.n'fl_. ':lﬁ @“5 [IeoTP r:I_zCIfh "m%i:,

-

e

Options :

It deposits layers of fine soil and other materials along river banlks

=26 HE ?..-ﬁ;:é Vc\,-;:‘?‘:;_ ’E'E] Evslalonyy) -:s'is"\j .:uﬁ':'._.. Peed) o é-:h.-{:‘-' ?.,.»w.,DE.'I
1.
The speed of the river increases and erodes the top most layer of the soil
_— %6 Jio HHEH HB0H Jo 2 T EBosEno0d
It deposits only the material carried by it
86 R T &:5%H3 % DR s @ah A5E0 Dok
3. %

It leads to the formation of Gorges

ab Stohen A erds rB8H0b
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Among the following, these winds blow continuously and regularly throughout
the year in a particular direction
8od TBE°, & HETes SodEBo PEHT odTraborr, Bhmorr a8 B BIE®
Dron
Options :
Trade Winds

a

Ny &
aP-all B

1.

[

Monsoon winds

BeeIs DBTen
2. %

Hot loeal Winds

. T OE S S
ﬁc&, od%edS 0ldeled9ED
wm D

Cold Local Winds

. Wy nl wf o "
&e oIS Bdaaren
A

e
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In the First Phase of the Agricultural Development i.e. in between 1950-19635,
India invested heavily on
1950-1965 $;, HEaroh odHd antsd 536" istio 8 o Dépntden
E;QE-DEJ
Options :
usage of high yielding variety seeds

t—&“u Dﬁ,u&mm u}..'ﬁ‘:l 500 ﬁﬁé@?j

Provision of markets for the farmer’s produce

>~ g - " i = . Y - - "
, % OWO EEABS JrGE SthaPairem 89joito

Construction of irrigation projects and power projects
JSarote EPEDe Bl His rEHe Ao BAhHKo
3.¢ N

Encouraging Drip Irrigation

Soth dueiy @Fdsrodto
4. % '
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The members of the constituent Assembly were chosen through indirect election
by the members of the Provincial Legislative Assemblies that had been

established under the

- - . -
[ E = - T % B P TEmEL B oy af : I PR —
B T0° QTR BADeEN Erosch SPnddde Hghen, HE°E adBe riTe trerol D8
e Y W R 1

c\J&fﬂrJJ ol ':"-‘_.:\.Jaﬁ;tb

Options :
Government of India Act, 1935

08 H3ehds; $eo, 1935
=

Minto Morely reforms, 1909

S00tT" Fr0 Do Pmen, 1909

Montague Chelmsford Reforms, 1919

5iroBh 36856 Koy Besen, 1919
i) { ] ’

The Indian Independence Act. 1947

. gRO8 Jrcdo@ Séxo, 1947
4. -
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In this form of Government system, only those in government get their authority
from the people and have to answer to the people

4 T g £oadid B et ol P, . G AT o X
& C":iguu\ [o2E0€ pICadel” ;‘E:_.L,H'.'?_": 08" GojerOl o) @EJSE?JD-.'\_-“ oiese ol {ﬁtc,\_-"j)@cd_’

-G:- & {: ; l:F'.. -
# i O o
80 Peed rEs SErTrlo Ba
Options :
Communist
=PV
], % -
Democratic
poeT R Es
2.9
Marxist
GH'O&F:E':J
3. %
Dictatorial
o - #
4. ® PJCrJO@F_;ﬂw
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One among the following is NOT the Fundamental Right of the Indian Citizen

£ob rES°, erlE THE FrEE ) P8

Options :
Right to protection against arrest and detention in certain cases

gm QMJF 'E"aﬁ;} ZBdi D }? C?'\.q_'l a8 3B ol &050m ,.‘55-5.5 ﬁ‘oﬁ E:T':'éJL

L

&

Right to equality of opportunity in public employment

2EDE; BalHE” HirS wssearen EPoB Py
2. %

Right to form associations or unions

Hozrenre, Sifenrr GG k)
3. %

Right to move to the courts to 1ssue direction for enforcement of Directive

Principles of State Policy
S38E SrEre wden 8

5850 estaren =0 TohSd %{'tégﬁaé- 38 &3 e é:@
4.
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From among the following. identify the SAARC summits hosted by India

o = o = &
Eob 8, grist¥o w0 1 705 daool Sirase HBoKos

ot e

Options :
2nd 8th summits only

£ ¢t o A
25, 853 La-;JGD cloldT ol TR ol0PES el

ord gth ond 14tk summits

A
25, 85 508w 1438 3T Hsirsaren

o RS

2.

14t and 18t summits

145 H8a5n 1835 3poel Ssiraaren

L=

204 and 5t gummits
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The headquarters of Greenpeace Movement was located at
ﬁgaﬁ 685,50 eS8 sorecho 58,8 éc@ép@?; etata
Options :

New York

eviital )
1. % )

Amsterdam

e e
30O T o)

4. :

e
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Who preached the idea of “One Jati. one God and one Religion for all”?
Fos0s0e0tiBs “a.8 &, 2.8 DS 2005 2.8 uso” e ) EPRRRD ardo D 32,408 a5d?
Options :

Arigey Ramaswmny

ESﬁ oesaare
1. %
Narayana Guru
eordDes (DD
2.

Dr. BR. Ambedkar
. B.R. f:?oﬁﬁii;;ﬁ

Bhagya Reddy Varma
gRiiC8 58,
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The nuclear scientist who played a key role in leading the human rights
05

o oy,

&30P s0ge08 Jedl

movement in the USSR was
& 3 EDERD TP edo El' mc-: i":'éj'.- )
USSR &° &: ¢ TS SED )

Options :
Alexander Solzhenitsyn

Milkhael Gorbachev
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O

3

£
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et
o s
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2. %

Andre1 Sukharov
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The United Nations Secretary General who persuaded India and Pakistan to
agree to a ceasefire during Indo-Pak war in 1965
19656° 508 _3r8 D‘i}:uigo.ﬁfi PES0F0 HBW FEPSoD ey HeSH e.8yodd

T i £
08:0rernilnd HEs 008,

Options :

Ban Ki-moon

3.¢

Trygve Lie

2L &
@E-i:‘.n:s_f
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India and China signed the Pancha Sheel pact on

= Ao e o B - > =i ot o e
gr8#G¥o snbdin Zar o 4o ooy Jodlo TN B

Options :
29th April, 1954
Jms 29, 1954

1. ¥

15th September, 1961

_FEJE&{:-E:E 15, 1961
3. %

25th December, 1971

Enoab 25, 1971
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The main objective of NAM during the Cold War was

|:.Jm ) r:tu:n(‘} H%0h08 wdSsdo Gy, RPN ef; e

Options :
To align with the Soviet bloc

- = T 1y e ¥
SRI0DES BrédnE” esiss

£y }-
2

To align with the Western bloc

. o

Womm 2 & = W E
Eméin& aasiintio

= i
aegedur

To remain neutral and promote peace
dtdore ol 3208 @& Eroiito
3.9

To form a military alliance
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In 1968, Saddam Hussain came to power 1n Iraq with the twin slogans of Arab

Natipnalism and Socialiam. By ‘Socialism’, they meant

s
2Lk
8
]
g -
29
g
g
=

(

19686°, Stro swaS a0E6” ©id @raahartio Hbdin Fidaso
B BoS E S, ard, {lgﬁ So06® TPhDmo’ wol)
Options :
Distribution of oil resources among all the people of Iraq

o6 ool SHnd HP¥%hed Hohd dehio

Use of o1l resources for the welfare of Religious institutions

088530308 t10me FI0S:00 SN0 Fanth dPtes) eadrAodEo

&
i

2. %

Nationalising and utilising the o1l resources to spread Islamism

PEbeso aPsas SNt Hdthe eradho TR, GRarfotito

]
J.‘

Nationalisation of o1l resources and the use of o1l revenues by the state to

fund welfare measures

S0t Hded eradho dabio HHBan F5nd o HT) errdird, FPHhe Ho5sn
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o e [Béhé-o &HNGIrAoNEo
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The conference which was held in 1955 paved the way for the Non-Aligned
Movement

s o b Ol P A i & T - S S R o
19556° 238A% & Sorddo @98 &8558 o iido Thob
o 5
a

Options :

1.

North Atlantic Treaty Organisation

d
Lo

; = L&, - o
0605 e sétlﬁéﬁa
)
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3 e

Warsaw Pact

-

:.r:ui]o

United Nations Organisation

v oy
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Identify the correct statement regarding an Ordinary Bill on the central subjects

in India

PEEOE oS Qov“ﬁ wogre3) JSrrdn Hepd Donodod) HOD %-853}(:-&5363 rbBoHSod

Options :

The ordinary bills are to be passed in the Lok Sabha only

E‘JJ

oo iR IR RRET |
0 denen 50" cr@a sadrboard

~F

If there are any differences between the two houses of the Parliament in
passing an ordinary bill, the final decision shall be taken in a joint session

of the Parliament

o

Tt Hendh sfrbododt rUotn 680H S0 Y AT Stren sofl, e

Ao srfahotn a5yl H5ra Fos® 88 0tH&od

The Rajya Sabha 1z empowered with more powers regarding ordinary bills

oy
£
L

Srrrles fened Sonofol) Treield 05 efsetren Gamon

As Lok Sabha has more members, it is likely to have more powers regarding
ordinary bills
SFELHS o 13 shob Hehgen &5)0thS, Jprles Heped Jomobod) HIE JEH

BETETRED &0t wiseso God



Question Number : 119 Question Id : 4771876238 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following is the best example of Globalization?
808 arBS° PHHodEdnD 68 6rsrdn ab?
Options :
Exchange of goods across the national boundaries

38 $B5rthe achis Shde Srbyd

1. %
Exchange of goods and services across the national boundaries
L] 2HBIFthe adhé Soden snbain ke &5 By&
2. % B
Exchange of goods, services and capital across the national boundaries
GE FE-BEL“L”’ e 20D€ Shenayen, Hden 2B Sireds &5 yelayle
3. %

Exchange of goods, services, capital and information across the national

boundaries

-

0% & E:.pﬂlifh"p“ [al:s) EEI:\CE?;}‘_'?. r:l::ﬁﬂ:_u ok '*"WCJESO S8aD PHeraed SJFEL&
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One of the following 13 NOT applicable for a worker who works in the Organized

Sector

833 E‘imn N Sotfod® H0TD 528,568 & Bob PBE° 2,568 200U

Options :
The worker gets a regular salary at the end of the month

58,588 Irpdd® Frrde 280 ofiod

The worker 1s not paid for leave

Resyed D 58,56 8 Hrio E‘-Qoﬂméd}

The worker gets medical allowances
. 508,;%88 3 Faren odaron
3. e = o i
The worker gets an appointment letter stating the terms and conditions of
work when he/she joins work
) /e 685 F‘\'{}é BORaE 23 Deoiden HBCH A0HeD B0
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A
@aronot anotd Beab wothioh
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Identify the INCORRECT statement from the following related to Public
Distribution System (PDS)

e Do F; *"*m (PDb} % Jomofo) Sob 706 Dol J05R DS WoddD HBoPod

Options :
The poorest families are issued Antyodaya Cards

08 DB bénomrod 8o8556H hen 8 Bohararan

1. %

Poor are 1ssued BPL (White ) cards
5855708 BPL (28¢) sothen erd Schadoron

]

A

Antyodava and BPL cards are one and the same

D'ﬁl 805 H58a5 BPL Sch}‘l:l L,_-éﬂ...-
3.¢

Abgve Poverty Line families are 1ssued Pink Cards

v - ’ L =
POE0D% DS 65 DHévosrek 208 oeehen =78 ZchodEon
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The concept of Sustamability first appeared in the year

ST NG G L . NPT V. (e IS0 MY ST QUMY G SO T v, Y- IO
FJJS:.\"GGS?'Eﬁ;J 8 flPan anddy £ Dondé Do Laaodob
s "

Lot
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Options :

1992
1.

1978
2. %

1980
3.¢

1987
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The amount received by the Government in the form of interest. fees and
dividends 1s known as

©2hee08 S8, Hidvanen HBAD ADRoY rHos® $T) Fneed); BLP BobrE

Options :
Tax Revenue Receipts

£

e ~BTrEdd Trad
Non-Tax Revenue Receipts

-
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Banahed oeal

2.

Capital Receipta

soPetiS oeolfl

Non-Tax Capital Revenue Receipts
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This service can be used for high value transactions
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The World Trade Organization came into effect on

R

i ALV R - AT £ s A = o
[JodOT0 aitEwEsT O Wod S sduhyo O o
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Options :

6tE March, 1996

76, 6, 1996

1. %
8th April, 1994
s 8, 1994

2. %
5th February, 1994
2056 5, 1994

3. %

1%t January, 1995

e 1, 199
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In India, the money supply 1s regulated by

ip R s ‘.
ePdEaEod”, (1983 SUDTPA Adho@oihNd

Options :
The Government of India

BT SRty LT
1 % Cot O ,‘I_ZIJEDJ@W'U'

Commercial Banks

Ministry of Finance
=208 o B8 T
(A} - o

3. %

The Reserve Bank of India
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One of the following organizes the procurement of food grains and sale of food
grains through Public Distribution System
£ Bob O, Der Dods B0 ToTe @0 e pEGmi b 80 e
33570 U880t NG
Options :
Commission for Asricultural Costs and Prices
g

i -

F . 1 A N _|-_L i o ':l?\ =
SreeroD Den sobAD Bbe 5508S

=

Food Corporation of India

Ay

geOE 830 Dol
2. #
Local Market Commaittee

PG 570 S
3. % 7
Agricultural Department of the State
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A Distributor Selling Milk to the consumers falls under this sector of the
eCOLOIY
DATFHT DS ren ah) HobBmr @88 3535 S50 & Botfo Boli Hapd
Options :
Agricultural Sector

rl F & -
o Do
Srsarcln Oollo

Secondary Sector

Eﬁ;@'ﬁjﬁ; Bolio
3. %

Quaternary Sector

#3803 doiio
4. % )
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Thomas Manro had devized the Ryotwari Settlement System in this part of India

-

) &resPoboortd
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g : <. ok e : = :
TR HE eriEtIoS N & Erodod” Bae:d DT 088 Hp
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Options :
North-Western part
PO Grodost

1. %
Northern India

688 8B E0S®

North-East states

l:'ra-;

e
L

éai-“ﬁ; o

&

Southern and Western part

&8¢es 0BG HBE0 Erodod”
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Correct Marks : 1 Wrong Marks : 0

Among the following. the Famous Scholar and Anthropologist who studied the

tribes of Telangana

]

Eoh B8&°, Boorres U‘-"ag_':l; J Bhiedy ofdhdo doN Hang HoGdtd HBcny SR
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e Iy
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Options :

Furer Haimendorf

“ “E P E R
o® 58] Rl )
-] F R -:Q.'
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1.

Clifford Geertz

8285 AG
mt g e
2. %

Margaret Mead
58868 Sk
0

Irawati Karve

g5 64 E:f—;
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The first ruler of Magadha Mahajanapadas in the 62 century BC was
é?fﬁ@ﬁ;@ 65 %F%oé’” SR8 SosFasnrro arfonsd Dot areith
Options :

Brihadrada

VI
fugﬂ,“pﬁ

1.8

Bimbizara

[ F )
7 & Elodarl

Jarasandha

eaOm R0l
3. %
Maha Padma Nanda

;B z
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Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The treaty in which France gave Alsace and Lorraine to Germany in 1871 was

P - _ 1 o s = - .
18716° grR) & eyotio TPt @em B $H8dn & 0Re a8 ad)od
Options :

The treaty of Paris

o, = at ra
arBa eayodo

The Treaty of Versailles
$58y006) evihotso

The Treaty of Trianon

AR asotio

The Treaty of Frankfort

@“GE?@ 2.snotio
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Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
As per the French Constitution, these rights were considered as ‘natural and
malienable’ rights

@od Traroiio Belo, & Piod Giredhs Hbdn QBT aPEyenv
HBNBoTr

A) Right to hfe

B) Right to freedom of Speech
a5 arsfods sy

C) Right to freedom of opinion
F_;-.Plcu oD -:\_,_ é,

D) Right to Equality before law
m,_:o Soth 2EPHE) s:‘:vé:-.;r

Choose the correct answer

Wiyele

3

ol 'j;\d) roolJe '3 o Cl?.
Options :
A & Bonly
A& Bimgd

C & D only

C & D sr@ad
2. %

A B& D only
A B& Dirss

ABC&D
4.
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This sculpture of Michelangelo depicts ‘Mary holding the dead body of Christ’
DHeroBE B&)S & Beo By HyEBHHY Hepthis) HED 5808
Options :
The Pieta

1. ¢

Dying Slave
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w o ond Bhad | o o
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Sistine Chapel ceiling
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Madonna of Bruges
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Correct Marks : 1 Wrong Marks : 0
The teachings of Buddha and his followers have been compiled in
t’ £ HBcn w8l osthe Stk & .hc*;jw_,@ Sobedo Dohad e
A) Sutta Pitaka
ShL w s
B) Abhidamma Pitaka
esdlt5adny TR
C) Vinaya Pitaka
DHEDH Héo¥
D) Gnana Pitaka
PP SHeod
&
Choose the correct answer
R8RS DrEaed; Joths’ 508
Options :
A C& Donly
A, C & D 5@

AB& C Dllly

A.B & C srsh
2.

ABC&D

A & B only
A& Birgs
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Correct Marks : 1 Wrong Marks : 0

In 1947, a large number of campaigns were organized to integrate Hyderabad

State into Indian Union under the leadership of

oh oot > ‘. E ok of = o & £
19478, rdorerth Tapa); 308008 CIPICHRS® DDHo IELTAE D8 i bos”
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o . e o R W D . B T T g Ty e
Fata oLl a) OPel 08 a3Cd PJC-':E.'UE! e alERen DJDC'ME\JL'GLJEJ\.J'O_IJ
o e/ L8] )

Options :
Sarojini Naidu
a8°23) et
1. %

Ramananda Theertha

TroaT ol E@-?
2.9

Boorgula Ramakrishna Rao

P 2 = 2
arethe T8 jarura)
)

0 2]
3. %

Sardar Vallab Bhai Patel
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In 1919, against the Rowlatt Act, Mahatma Gandhi gave a call for

[

1919&°, a5 SEPRS & &0%orr Hfer) rrob HIS ey
Options :
Satyagraha

S
1.v

Home Rule Movement

‘,_“" T = o
a¥ 0 Gre 6lrano

Swarajya

e

Civil Dizobedience Movement
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Correct Marks : 1 Wrong Marks : 0
The policy of Subsidiary Alliance and the Doctrine of Lapze respectively were
itroduced in India by
PEEDT0E DE: S5roed e.b oo 2665 TresrrooBses %;D;—‘ovtéoe;-:ﬁ:- ST
2
Options :
Lord Wellesley and Lord William Bentick
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) s0Bdin er

o0y

T ==
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Lord Dalhousie and Lord Canning
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Lord Wellesley and Lord Canning
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Lord Welleslev and Lord Dalhousie
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Question Number : 139 Question Id : 4771876258 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following statements are true related to Social Studies and Social
Sciences?
~PoBng -:\.eCl Ry Q,:Léa Homodod) £ Sob I &P RO QD?
A) Social Sciences are theory part of human affairs
SRIPEE @aren aPHH HpiFrre Ea;oéé griio
B} The emphasis of Social Studies 1= on functional part of knowledge
Podnd ge Jo &, ,a_.\@o@“ g3 teges 8 o3 :fm&'“ RO Gotnob
Choose the correct answer

RON RETRTRERAL y 0808
Options :
Neither A nor B
A & B Bo&r soth

1.
Both A & B
A & BBolr
2.%
A onls
s x AdrED
B only
ST
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Correct Marks : 1 Wrong Marks : 0

In the year 2009 Prof. Amartya Sen wrote the following book
2009 éc}éé@.-ﬁoé: aé e o oo
Options :
The 1dea of justice

& pfah oF =BT
1.V

Choice of techniques
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P0Gl s 8585
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On economic inequality
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Collective choice and social welfare

$BES PahS wok A4S )6
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Correct Marks : 1 Wrong Marks : 0
;—"1111(}11g the following identify the true statements related to constructivism
OPEan 8 arannd domobod) £ Bob R Snedt 208 P8 Mbotiol
A} Constructivism allows academic freedom to students

rJD’:‘ 5 Larlio &_.E:‘ 'Ith_JEU -::UCF“", deD&lé SOt ol Bedlanes 0530&

g}

B) Teacher is the sole source of knowledge
SaPEROD @D s dreo

O } It encourages cooperative learning and sharing of thoughts among peers

-
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Choose the correct answer
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Options :

A & C only

;j'L& C o | -.3:3
1. v

A & B only

A& BirEd
2. %

B & C only

B & C &r@ad
3. %

AB&C

4, %



Question Number : 142 Question Id : 4771876261 Question Type
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Feeling of 'Vasudhaika Kutumbam' promotes
‘D008 Hetvon FRHD HAD FFE IR0
Options :
National Value

T I N
EPed 0] oleDad

Regional Value

BPOSCD aens
2. %

International Value

s o T
SodTradD oenn
L

3.¢

Political value

: MCQ Option Shuffling : Yes
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Correct Marks : 1 Wrong Marks : 0

Classification of Psychomotor objectives was first presented in 1966 by
SPRRE oSS o5 E’:-%Eiﬁzﬁéﬁ:- 1966 &* Entier BHaFBoDSTSH
Options :
Michaelis

g B Lot
olebieted

Simpson
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Correct Marks : 1 Wrong Marks : 0

This section of Right to Education Act (RTE)-2009 States — ‘Learning should
takes place through activities, discovery and exploration in a child friendly and

child centred manner

Do 5%, S&0 (RTE)-2009 6% & DES
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Options :
Section 29(2)(a)
D58 29(2)(a

Section 29(2)(e
S 20(2
2.&? ?:'E{'u LQ{L}{E:I
Section 29(2)(d)

258 29(2)(d)

3. %

Section 29(2)(g)

ES 29(2)(g)
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‘Computer’ is

‘Boair 06’

Options :

1. %

4.

: 4771876264 Question Type

Not considered as an aid in teaching learning

i
0 oy oy vl
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Vizual aid only
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‘Godawvari River’ and ‘Nagarjuna sagar dam’ are these type of resources
TRt 387 ; ‘el b trpen’ @b & 55N H5ten
Options :
Man made respurces; Natural resources

SPNHen SATH ThS S58en - Hira H5%en

1. %
Natural resources: Man made resgurces
Do HHBen : SESNen SR DDS HH0en
2.9
Both are Man made resgurces
Colir srdSen 84T BN Hd%en
3. %

Both are Natural resources

Coli ey Hathen
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Correct Marks : 1 Wrong Marks : 0
To study the topic about ‘life of Birsa Munda’ this kind of Historical Method 1s
more sultable
‘oey snote B EDE0’ P8 ef:ciko DOHIE & G5DS THES DES ©E08
Options :

Observation method

- L i y T
283803 mgé

1. %
Evolution method
B D&

2. % 2
Bio-graphical method
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Social method
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In this phase of teaching, content is presented to the pupils and teaching

strategies are deployed

AT O_:‘a:néé & 85588, Dok DNETPD wobod) Hae aFeraiensd) essoen Epﬁjh,
Options :

Interactive phase of teaching

S ar 058

1. ¢
Pre-active phase of teaching
8 S0 88

2. %

Post active phase of teaching

20 S Pa O
3. %

Pre and post active phases of teaching
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30, 28 & S¥en
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In this step of SE -learning model students acquire some knowledge by doing

activities. Teacher should analyse defects and clear the doubts so0 as to develop

understanding capacity in students
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Options :
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Evaluate
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Read the para under the title ‘Gangadevipalli Panchayat’ of the chapter
‘Village Panchayat’ and write your comments

— This question 1s aimed at
achievement of the following Academic Standard

(P2 HoTronsd” TPg0 &7 ‘HorlB®E Howro
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Options :

Conceptual understanding
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Eead the text given, understanding and interpretation
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